Ajuste de reacciones redox

REACCIONES EN MEDIO ACIDO

M HNOs3 + Zn = Zn(NOs3)2 + NHsNO3 + H20

@ K2Cr207 + FeCl, + HCI = CrCls + FeCls + KCI + H.0

@ KMnO: + K2SO3 + HCI = MnO: + K2SO4 + KCI + H20

@ SOz + KMNO4 + H20 = MnSO4 + H2SO4 + KSO4

& NalOs + Na2SOs3 + NaHSO3 = |2 + Na2SO4 + H0

@ Cu + HNO3s = Cu(NO3); + NO + H-0

@ K2Cr207 + Nal + H2SO4 = Cra(S04)s + K2SO4 + NazSO4 + Iz + H20

@ KMnO4+ NazC204 + H2SO4 = K2S04 + MNnSO4 + NazSO4 + H20 + CO»
@ As4O6 + Cl2 + H20 = H3AsO4 + HCI

D@ KMnO4 + KCI + HoSO4 = MnSO4 + Clo + KHSO4 + H20
DD K2Cr207 + HI + H2SO04 = K2SO4 + Cra(SO4)s + |2 + H20

(D@ KMnQOs + NaxSOs3 + HoSO4 = MNnSO4 + NaxSO4 + K2SO4 + H20
M@ KMnOs + Kl + HCI 2 MnCl, + |2 + KCI + H20

D@D K2Cr207 + HI + HCIO4 = Cr(ClO4)3 + |2 + KCIO4 + H20

D@ K2Cr207 + H2S04 + FeS0O4 = Cra(S04)s + Fea(S04)s + H20 + K2SO4
M® K2Cr07 + HaSO3 = Cra(S04)s + H20 + K2SOs3

D® KaCr207 + IK + H2S04 = K2S04 + 12 + Cra(S04)3 + H20

D@ KCrO: + KCIO + KOH = K2CrOs4 + KCI + H20

DD I, + Na>SOs + NaOH = Nal + H>0O + Na»S0.
@@ Crz(S04)s + KCIO3 + KOH = K2CrO4 + KCI + K2SO4 + H,0

@D NaClO + As + NaOH = NazAsO. + NaCl + H-O
@3 NaNO, + NaMnO4 + H.O = MnO> + NaNOz + NaOH

@@ KCIOs + KOH + CoCl, = KCI + C0,03 + H20
@@ KNOz + MnO + KOH = KoMnOs + KNO> + H.O
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@® KNOs + MnO2 + KOH ==K,MnO4 + KNO2 + H,0
@® Br2 + Mn(OH)2 + KOH = MnO; + KBr + H20

@® Kl + KClO3z + H20 = 12 + KCI + KOH

@@ KMnO4 + CH3—CHOH = K>CO3 + MnO; + H,0
@@ Cr203 + NazCOsz+ KNO3 = NaCrO4 + CO2 + KNO2
@@ KMnO4 + NaNO2 + H.0 = MnO2 + NaNOs + KOH

@D K2Cr207 + H202 + H2SO4 = Cro(S04)3 + O2 + H20 + K2SO4

@D H20; + KMnO4 + H2SO4 = MnSO4 + K2SOs+ O2

@@ KMnO4 + H05 + HSO4 = MNSO4 + 02 + K2SO4 + HoO
@D H,0,+ CrCls+ KOH = K>CrO4 + KCI + H,0

DISMUTACION

@@ KClOs = KCIlO4 + KCl

@@ CIlO; + NaOH = NaClO; + NaClOs + H,0
@® P4+ KOH + H,0 = KHPO; + PH3

@@ Cl, + NaOH = NaCl + NaCIlO + H.O

@@ Br, + KOH = KBr + KBrOs + H20

@@ Hg:Cl, = Hg + HgCl»
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